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Downstream speed of a boat is S km/hr more than its upstream speed and the speed
of boat in still water is 280% more than the speed of stream. Find the total time
taken by boat to travel 42 km in downstream and 31.5 km in upstream?

Ueh ATd & URT & 3ehel A SHD URT b Uidgpel Ifd F 5 fhal/ger 3 § IR &=
STel & oTa & a1fd URT T 1T & 280% AP &l URT & Ufdgel 42 Tohall 3R URT &
Ufdpe 31.5 fepdl T IMET I H A1d gRT foT -1 ol FHI AT HrioA?

= > 1.7 % hr

3.9 hr
4.9% hr
5.10 hr



A man can row the boat in downstream from point A to C in 16 hours. But he return
from point B, which is exactly mid-point of A and C to upstream in 12 hours. Find the
ratio of speed of stream to the speed of man in still water?

Teh gfeh AT Bl fdg AQ CTh URT & IRl 16 8 H Toll Febell &l ofehed ag foig B,
ST AR €% OIp 7CT g &, & 12 g¢ A URT & Ufdgel aaqd 30 ST &1 R STl 7 9ra
T aTfd 3R AGST P a1fd &1 U A1 Hifau?
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Ratio of still water speed of a boat to speed of currentis 3 : 1. It covers 45 km in
downstream in X hours and 27 km in upstream in (X +1/2) hours. Find speed of

boat in upstream?

Uch g d TR St a1fd 3R aRT &t 1fa &1 3ara 3: 1 1 I8 9T & uidgpe 45 el
B gl X' d AR URT & gfdger 27 fhalt H (X +1/2) gt # T HIdT & URT &
Uidcpel AT I ITTA JATT hifeTd?

= 3 1.6 km/hr
/\ ':"j Q) 2.4 km / Nr

3.5 km/hr
4.8 km/hr
5.NOT




A river flows towards point B to A. One point M, is at distance 3/4th of AB from
point A. One boat takes 12hrs to going from A to B. Boat goes point A to M and
return back M to A and takes 10hrs. If the speed of boat in constant water is 20m/s

then find the speed of water?

AN g BAA R e Tl g1 T fdg M, g AT AB R 34 A w2 v a1
FTA Y B TF AN 12 6 o0 B W%HA@[MH%BW%@TWM&AW
ST Bl 10 T i Rer Stet § 1 Y TTT 20m/s T @Y T T =TT FT HIRTU?

w m> 1.8
2.16
3.12

4.15
5.NOT



A boat goes 40 km upstream and 30 km downstream in 13 hour. In 11 1/2 hour, it can
g0 30 km upstream and 40 km downstream. The speed of the boat in still water is ?

ek TS 8T o Wicreher 40 ToRwt 3T o 3 a7eher 30 et T i1 13 o & aa ot <.
1112 ¢ H, !Ta'%rm%uﬁw 30%@1%%%40 foRTft TR =TT TeRd 31 Rew

T T AT hY i SR 2

( m> 1.8
2.6

3.7

4.11

5.NOT



A boat goes 30 km upstream and 44 km downstream in 10 hour. In 13 hour, it can
g0 40 km upstream and 55 km downstream. The speed of the boat in still water is?

Tk T 30 ToRwT. &R o Werehet T | 31X 44 TR, &1 3 Ther ST # 10 ©e T 2
13 5§ Tg 40 foret. amr o afdemer 3R 55 TR, 9T o STehet STt 81 719 <ht i

RoR ST W =T Bt

( N> 1.7
2.8

3.9

4.11

5.NOT




A boat goes 24 km upstream and 36 km downstream in 6 hour. In 6 1/2 hour, it can
g0 36 km upstream and 24 km downstream. Find the speed of the boat in still water?
Tk TS &R o UTdehet 24 ToRH 3R &RT o 3tTehet 36 TRt 6 € /STt 81 6 1/2 € H,
a'a'36ﬁ5n°ram'62ﬁwaﬁ'{24 ﬁﬁﬂ"rmmm%l I STeT | AT <kl <TeT FTd
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( N> 1.7
2.8

3.9

4.10

5.NOT




A boat goes 12 km upstream and 18 km downstream in 3 hour. In 6 1/2hour, it can
g0 36 km upstream and 24 km downstream. The speed of the boat in still water is.

Tk AT &R o Uideher 12 Tormt iR &rRr o ekt 18 fordt 3 e/ STt 81 6 1/2 € H,
a%’36ﬁ5n°r3m¢éhmﬁu4 ﬁsﬁmmm%l I ST | AT <hY T 22

w m> 1.10
2.11
3.5

4.7
5.NOT




